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Math 10D

Similar Triangles
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Each pair of figures is similar.  Find the missing side.

1)  

88 64

    

x 8

2)  

55

50

    

x

10

3)  

2.8

x
    

11.2

9.6
4)  

56

55.2

    

x

6.9

5)  

x

49

    
11 7

6)  

8
6

    

x

30
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7)  
9.5

x

    
104.5

51.7

8)  

22.2

27

    

x

13.5

9)  

52.8 x

54

    
17.6 11.4

18

10)  
51

71.4

104.4

    

x

11.9

17.4

Answer each question and round your answer to the nearest whole number.

11)  A lawn ornament that is 6 ft tall casts a
shadow that is 3 ft long.  Find the length of
the shadow that a 18 ft adult giraffe casts.

12)  If a 6 ft tall man casts a 8 ft long shadow
then how long is the shadow that a 3 ft tall
globe casts?

Answer each question and round your answer to the nearest tenth.

13)  If a 25.3 ft tall flagpole casts a 149.3 ft long
shadow then how long is the shadow that a 5
ft tall tent casts?

14)  A baby giraffe that is 5.5 ft tall casts a
shadow that is 22.5 ft long.  Find the height
of a bird bath that casts a 12.3 ft shadow.


